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Blput ~stop print~)
usera a,txt
- Input : UserName Input : CopyFile
Now Time = 2015-12+08 17:05:56===mm (1f you want to retrun main , input ~return main~)(0f you | o stop print,
-Amount Of PAPER -- 53 - put ~stop print~)
---Amount Of INK -- 1778 2a userA a.txt
~User - notexist 0/ 0 - Input : UserName Input : CopyFile
%] e PPINtINGesssnnennnnsopy (1f you want to retrun main , nput ~return main~) (Of you want to stop print,
-Next - notexist/ 0 papers------ms put ~stop print~)
- Waiting Number 15 1
userC c.txt
Warting Number 1s 2
Input : UserName Input : CopyFile
(1f you want to retrun main , input ~return main~)(if you want to stop print,
put ~stop print~)

Stop prlnterE OI 4 AI | gt + CopyFile :

Input : UserName Input :

(if you want to retrun main , input ~return main~)(af you want stop print,
ol- E %" O'I i El E-I 6X| H-I = put ~stop print~)

stop printer

Input : UserName Input : CopyFile
(1f you want to retrun main , input ~return main~)(3f you want to stop print,
put ~stop print~)




w Time - 2015-12-08 1

««Amount Of PAPER «- 71

-~Amount Of INK -- 2246--
er - userA 17 /a--

Pranting

Next = userC/ 1 paperge===s

Slstop print
Not exist printing file

Input : UserName Input
(1f you want to retrun
put ~stop print~)
userA a.txt

Input : UserName Input
(if you want to retrun
put ~stop print~)
userA a,txt

Input : UserName Input
(if you want to retrun
put ~stop print~)

g ting Number 15 1

userC ¢, txt

Waiting Number is 2
Input : UserName Input
(1f you want to retrun
put ~stop print~)

stop prant

Input : UserName Input
(1f you want to retrun

put ~stop print~)

: CopyFile :
main , 1nput

: CopyFile :
main , nput

: CopyFile :
man , nput
: CopyFile :

mamn , 1nput

: CopyFile :
main , nput

~return

~return main) (3

~return main) (if y

~return main~) (1f y

~return ¢

£\

want

stop print,

stop print,

stop print,

stop print,

stop print,

m

m




E=---Now Time - 2015-12-08 17:08:54---mm
f.{--—--»brount 0f PAPER -~ 79 ].. userA a'tXt
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userC_ 1/ = 2. userBb.txt
----- Next - notexist/ 0 papers B= 23%0] 30000| 48

3. userc c.txt




2. Enter by User for Print
. Check Ink & Paper
4. Exat Programm

t : UserName Input : CopyFile :
you want to retrun main , 1nput ~return
T2_NPS.STC.003.007 -> put ~stop print~)

- userA a.txt
Input : UserName Input : CopyFile :
(1f you want to retrun main , nput ~return
put ~stop print~)

npu
1f

OlAl = &KL ol H = userB b.txt
'_'LH S OII I- oa L Al Input : UserName Input : CopyFile :
EE:I_Eél OI JEJ-LI-E _=I|__I=I|__ g_ﬁ_ _JI\_g (1f you want to retrun main , input ~return

put ~stop print~)

Waiting Number 15 1

userC c.txt

Input : UserName Input : CopyFile :

(1f you want to retrun main , 1nput ~return
put ~stop print~)

wWaiting Number 15 2

Ink & Paper are not enough...Request Admn




Ink & Paper are not enough...Request Admin

~eturn main
Enter by Admin

[

:

2. Enter by User for Print

3. Check Ink & Paper Retyurn main €2 A

4. Ex1t Programm
| Hjolo= %-—rll




home/happy/T2_NPS.
Enter by Admin
Enter by User for
Check Ink & Paper
Ex1t Programm

.

S
1.
2.
3
4.
>

Input : UserName Input : CopyFile :
(Af you want to retrun main , 1nput ~return main~)(1f you want to stop print, In
put ~stop print~)

useraA a.txt

60Input : UserName Input : CopyFile

(Of you want to retrun main , 1nput ~return main~)(Af you want to stop print, In
put ~stop print~)
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